Stewart - Calculus ET 8e Chapter 11 Form A

1. Find a formula for the general term «,, of the sequence, assuming that the pattern of the first few
terms continues.

1 16 81 256 £25
23 4 57 g

2. Find the partial sum 5, of the series Z

. Give your answer to five decimal places.
w1l 1':' + 8

™

3. How many terms of the series 2

would you need to add to find its sum to within
waa bmellnem )

2

0.02?

4. Test the series for convergence or divergence.

w5
Es kink '

5. Use the sum of the first 10 terms to approximate the sum of the series. Estimate the error.

© 1
Z
Heml 1+4?¢

6. Test the series for convergence or divergence.

i #
17"
E( ) Slha

7. Test the series for convergence or divergence.

> -4 22

8. Use the binomial series to expand the function as a power series. Find the radius of convergence.

1
(4+x)°
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Stewart - Calculus ET 8e Chapter 11 Form A

9. Find the sum of the series.

o 2”
z

=0l 3?!?2!

10. Use the Alternating Series Estimation Theorem or Taylor's Inequality to estimate the range of
values of x for which the given approximation is accurate to within the stated error.

14
cosx e | ——+— |error| <005
24

2

Write asuchthat —a <x <a.

11. Write the first five terms of the sequence {ax} whose »™ term is given.

n+
=
*ohr—1

12. Find an expression for the ™ term of the sequence. (Assume that the pattern continues.)

2 4 6 8 10
25° 367 49" 64" 81"

13. Determine whether the given series converges or diverges. If it converges, find its sum.

z
Hull 12;“

14. Determine whether the given series is convergent or divergent.

i 1
n=2 M ':Jn"g:'j

15. Determine whether the series converges or diverges.

¥

w (_
0
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Stewart - Calculus ET 8e Chapter 11 Form A

16. Test the series for convergence or divergence.

s _ 1
x=0 afm? +3

17. Determine whether the series converges or diverges.

18. Determine whether the series is convergent or divergent.

w (?2!)4
E1 (7)]

19. Determine whether the series is convergent or divergent.

w 9;‘
i

aa1 #lm

20. Determine whether the series is convergent or divergent.
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Answer Key

[_1):! ?34
n+1
042758

]

@y =

=

m =gl
convergent

0.27940, error < 00000007
divergent

divergent

|x| <4

EE.-'E

—1.965 «x < 1.965

a 9 10 11 12

57117 17" 237 29
B 2n
" (m+4)2

© OoN RN

I
= o

12. a

13. 7

14. Convergent
15. Converges
16. Convergent
17. Converges
18. converges
19. convergent
20. convergent

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart - Calculus ET 8e Chapter 11 Form B

1. Determine whether the sequence converges or diverges. If it converges, find the limit.

4 P
@, = 2¢ #/ 2]

2. Find the exact value of the limit of the sequence defined by @, = ~/4,a, = . [4+a, .

T+l
3. The terms of a series are defined recursively by the equations @, = &, a,,, = L
M

Determine whether Eak converges or diverges.

4. Express the number 0. 21 as a ratio of integers.

5. Use the Integral Test to determine whether the series is convergent or divergent.

- 1
w1l dBr+ 2

6. How many terms of the series 2,

——— would you need to add to find its sum to within
w2 brallnee)

0.02?

7. Test the series for convergence or divergence.

=5
55 Kok

8. Determine whether the sequence convergent or divergent.

i 1

a1 2 — G+ 10

9. Test the series for convergence or divergence.
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10.

11.

12.

13.

14.

15.

16.

Test the series for convergence or divergence.

w 4mm3
Z

mo1

Find a power series representation for the function and determine the radius of convergence.
flx)= arctan[%]

Find the Maclaurin series for #{x ) using the definition of a Maclaurin serires.

f&)=(3+x)7
Use the binomial series to expand the function as a power series. Find the radius of convergence.

4 &

1+x

Use the Alternating Series Estimation Theorem or Taylor's Inequality to estimate the range of
values of x for which the given approximation is accurate to within the stated error.

14
cosxm | ——+— |error| <003
24

2
Write asuch that —z < x <.

Use the sum of the first 9 terms to approximate the sum of the following series.

i &
nal n 4t
Write your answer to six decimal places.

Determine whether the series is convergent or divergent.

i tan ™ »
w1l HBodu+d

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart - Calculus ET 8e Chapter 11 Form B

17. Determine whether the series converges or diverges.

S 1y nsm[i]
S

#=1

18. Determine whether the series is convergent or divergent.

19. Determine whether the series is convergent or divergent.

w (?2!)4
E (7]

20. Determine whether the series is absolutely convergent, conditionally convergent, or divergent.

w (_ljx—l
=
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Answer Key

2t
1417

2
diverges
9
11
divergent
ras IE1IZIIZI
convergent
converges
convergent
convergent

e+l
X

2un+1

=

©oo~No o A WD

[EEN
©

11. 2 (-1)" " R=73
H=ll

(-1)“(m+1)(n+2)[%]

12. 2o
= 54

13. |x| =1

14, —1.965 <x < 1.965

15. 3.048662

16. Convergent

17. Diverges

18. Convergent

19. converges

20. conditionally convergent
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Stewart — Calculus ET 8e Chapter 11 Form C

Select the correct answer for each question.
2

1. Determine whether the sequence defined by «, = F

converges or diverges. If it converges,

- 6x° + 1
find its limit.
a. 1
&
b. -5
c. _2
&
d. Diverges
2. Determine whether the sequence defined by «, = 1 converges or diverges. If it converges,
find its limit.
a. 1
b. 5
8
c. 0
d. Diverges

3. Find the value of the limit for the sequence given.

[1.9.1?...(?%1)][
(7n)’

]

oo oW
|—l|.._»\_'l:ﬁ
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4. 1f $600 is invested at 4% interest, compounded annually, then after n years the investment is
worth @, = 600(1.047* dollars. Find the size of investment after 7 years.

a. $430.21
b. $1,860.81
c. $1,230.81
d. $789.56
e. $1,321.06

5. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 5:&6—:'“1

n=

a. 30
b. 36
c. 5
d. Diverges

6. A sequenceis

"

ax} defined recursively by the equation «, = 0.5[%_1 +an_2:| for » =3 where
a, =14, a, =14

Use your calculator to guess the limit of the sequence.

6

14
26
17
15

®o0 o
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7. Determine whether the geometric series converges or diverges. If it converges, find its sum.
1 1 1 1
__+___+__...
50023 123 625

a. 1
4
b. 1
]
c. Diverges
d 1
&
8. Find all positive values of u for which the series 2. 6z™™ converges.

wa-l

a wu=7

) 7
b by g —
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9. Determine which one of the p-series below is divergent.

a. i 1
- Mn3

b, =
E }2_4’
=l

C. = 1
=
x=1#

d = 1
Z—
1=1#

10. Find an approximation of the sum of the series accurate to two decimal places.

X

i (::3:'

oo o
|
o
(o0
S

11. Approximate the sum to the indicated accuracy.

© o A(—1 2-1
z % (five decimal places)
=1 2

697036
4. 57036
THI0E6
3.97036
597036

®o0 o
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12. Find the radius of convergence and the interval of convergence of the power series.

oo o
ol e R
I

13. Find the radius of convergence and the interval of convergence of the power series.

i -1 x-8)°

#=1 ’\'Ir;

a R=1I1=[7.9
b. £=1,71=(7,9]
c. R=871=[-8 8
d. R=8.7/=(-8, 8

14. Find the interval of convergence of the series.

di

@D
=
«Q

es everywhere

®oo0 o

I
—
u
—t
o
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15. Find a power series representation for
Flg)=1n(14-¢)

a.

w f?é
Inld- 2
a1 147

w ﬁ?é
n1d- 2

Hal ?314?!

C. w z:'!

#a=l Hldﬁ

d = 14
Z

n=1 HE

dn

nld+ 2,

=1

X

16. Use the power series for fix)= /5 +x toestimate %/5.07 correct to four decimal places.

a. 17179
b. 1718%
C. 171595
d. 17138
e. 1.7200

17. Use series to approximate the definite integral to within the indicated accuracy.
05 a4yt
-[;. x%e” dx |error| < 0.001

0.0354
0.0125
0.0625
0.1447
0.2774

P00 oW
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18. Use series to evaluate the limit correct to three decimal places.

i Tx— ta:l'l?x

=10 x
Select the correct answer.

118.933
114.133
34.3233
114.333
115.933

®o0 o

5
nl

19. For which positive integers k is the series 2.

convergent?
=1 ("FC'}E) l

k=5
k=0
k=0
kz1
k=-5

20. Which of the given series are absolutely convergent?

o0 oW

a B oin2u
2

n=1 #
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Sl
© © N

Answer Key
1. A
2. C
3. A
4. D
5. B
6. B
7. D
8. C
9. A
10. C
11. D
12. D
13. B
14. C
15. B
16. A

A
D
A
B

()
©
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Select the correct answer for each question.

1. Find the value of the limit for the sequence given.

[1-9-1?---(?%1)}
(72)°

0
-1

®o0 o

T
3
1

2. Determine whether the sequence defined by a, = 5+8(-1)" converges or diverges. If it
converges, find its limit.

a. 13
b. 5
c. Diverges
d -3

3. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 3x4—m+1

n=

a. 12
b. Diverges
c. 3
d. 16

4. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 5?¢6—m+1

#=0

a. 30
b. 36
c. 5
d. Diverges
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5. A rubber ball is dropped from a height of 8 m onto a flat surface. Each time the ball hits the
surface, it rebounds to 50% of its previous height. Find the total distance the ball travels.

a. 16
b. 24
c. 8
d. 32

6. A sequenceis
a, =14, a, =14

"

ax} defined recursively by the equation «, = 0.5[4?!_1 +ak_2:l for » =3 where

Use your calculator to guess the limit of the sequence.

6

14
26
17
15

®o0 o

7. Find the sum of the series.

2 o2 N 2 2t N
1.3 2.3% 3.3% 4.3t "

g

e. 513

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart - Calculus ET 8e Chapter 11 Form D

8. Find all positive values of u for which the series 2, 6z™™ converges.

=1

a u="7

) 7
b < w—

2

1
0 gy o—

€. wx=ln7

o ]n[?zgj
9. Find all values of p for which the series 2,
=1 X

converges.

a p=<B
b. p«1
c. p=8
d p=1

10. Determine whether the sequence convergent or divergent.

- 3
wol PE2+3

a. converges
b. diverges

11. Test the series for convergence or divergence.

i (-6)

Hm
-l 4

a. The series is convergent.
b. The series is divergent.
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12. Determine which series is convergent.

2 3 4 5 £
St ——
T8 &% 10 1

a.

o
| s
|
Ia | g=
+
[
o | s
+
1] I
|

13. Find the values of p for which the series is convergent.

s -1
E ¥
#=2 []n[mﬁ ]]
a. p=1
b. p=0
c. p«=i
d p=l1
14. Find the radius of convergence and the interval of convergence of the power series.

= (7x)°
Z

wog H

o0 oW

15. Suppose that the radius of convergence of the power series 2, ¢, x" is 9. What is the radius of

=0

convergence of the power series 2. ¢, x™.

=0

252
3

1
256
16

oo oW
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16. Find the radius of convergence and the interval of convergence of the power series.

= (ax”

z(%]

a. R=07=1{0}

b. E=00, /= {—c0, co)
c. R=61=[-6, 6]
d B=6I=(-66)

17. Find the Maclaurin series for f (x) using the definition of the Maclaurin series.
Flx)=xcos(dx)

a. w ( 1) 4:! m+l

;,Z_‘:;, (2n)
b w 2:'! dn+l
E[ 1)’ 1|

Ef: EEH]'
d w ( 1) 42:& m+l
;,Z_‘:;, (2x)

€. w [ 1)H+142?¢ I+l

E (Zx)l

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart - Calculus ET 8e Chapter 11 Form D

18. Use multiplication or division of power series to find the first three nonzero terms in the Maclaurin
series for the function.

Fflx)= 567 cosdx

a. [ 115
5 1—17xz+?x4]

b. 115
51—9x3+—x“]
&
c. | 115 )
51 1-9x+—x*
&
d 97 )
Sl1-9xt+—=x*
&
e. [ 67

Sl1-17x*+—x
&

. : - s . . i .
19. Given the series 2, ————— estimate the error in using the partial sum g, Dy comparison
mo1 A3+ 5)

=1
with the series 2., eR

W=l
a. £, £26130051
b. R, = 00000052
c. £, =0.0000051
d. £, = 00000051
e. £, =£0.000005
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20. Determine whether the series is absolutely convergent, conditionally convergent, or divergent.

i (—1)" arctan

4
=1 b

a. conditionally convergent

b. absolutely convergent
c. divergent
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Answer Key

©WCoNoO~wWDNE

[EEN
©

PR R RRERRRE R
© oo N O~ WNRE
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N
©
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2

1. Determine whether the sequence defined by «, = ; 2_ "
x4+

converges or diverges. If it converges,

find its limit.

2. Determine whether the sequence defined by a, = 5+8(-1)* converges or diverges. If it
converges, find its limit. Select the correct answer.

13

5
Diverges
-3

o0 oW

aity 2x
3. Determine whether the sequence defined by «,, = . converges or diverges. If it converges,
b
find its limit.

4. Determine whether the series is convergent or divergent by expressing .5, as a telescoping sum. If
it is convergent, find its sum.

i 5

-l ?z[?zg - 1] .
5. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 5m6—m+1

n=

6. A sequenceis {am} defined recursively by the equation «, = 0.5[%_1 +an_2:l for » =3 where
14.

a, =14, a, =
Use your calculator to guess the limit of the sequence. Select the correct answer.

6

14
26
17
15

®oo0 o

7. Determine which one of the p-series below is convergent.

8. Determine which one of the p-series below is divergent.
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10.

11.

12.

13.

Let 2, = f(k), where f is a continuous, positive, and decreasing function on [, o), and suppose

that 2 @, is convergent. Defining & =5- 5, where §= 2 a, and S, = 25 a,, we have that
k=1 H=1 k=1

w w ) : . T
j lf(x).:fx =R, 5[ Fix)dx. Find the maximum error if the sum of the series 2 — s
"2+ ] wel M

approximated by .
Test the series for convergence or divergence. Select the correct answer.

i (-6)

S
wa-l 4

a. The series is convergent.
b. The series is divergent.

Approximate the sum to the indicated accuracy.

©ooA(—1 2-1
Z % (five decimal places)
He=l b

Find the radius of convergence and the interval of convergence of the power series.

x|

i (7x)"
w=0

Find the radius of convergence and the interval of convergence of the power series.

© (18
P
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14.

15.

16.

17.

18.

19.

Find the radius of convergence and the interval of convergence of the power series.
Select the correct answer.

x
x-E-’gﬂn"g}E

a. R=0,7={0}

b. E=1,71=[-1,1]
c. R=17=-11)
d. K=o, /=(—c0, co

Use the power series for f{x )= 2J5+x toestimate »/5.07 correct to four decimal places.
Use series to evaluate the limit correct to three decimal places.

i Tx— ta:1_17x

=10 x
Select the correct answer.

Use the binomial series to expand the function as a power series. Find the radius of convergence.

X

W16+ 2

] ) - =
Given the series 2, "

——— estimate the error in using the partial sum =, by comparison
mo1 A3+ 5)

=1
with the series 2., eR

el

Determine whether the series is absolutely convergent, conditionally convergent, or divergent.
Select the correct answer.

o (an?43]
z
a1l 30t +4

a. conditionally convergent
b. absolutely convergent
c. divergent
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20. Determine whether the series is absolutely convergent, conditionally convergent, or divergent.

i (—1)" arctan

4
=1 b
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Answer Key

> w
Ilin ©O O ol —

o o
w
o

~
e @

0.
10. A
11. =
12. R=o0, /= (—00, c0)
13. R=1,7/=1{7, 9]

14. B

15. 1.717%

16. 114.333

17. |x| <4

18. R, =0.0000051

19. C

20. absolutely convergent
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2

1. Determine whether the sequence defined by «, = z converges or diverges. If it converges,

E— 6u? + 1
find its limit. Select the correct answer.
a. 1
&
h. -5
C 5
&
d. Diverges

2. Determine whether the sequence converges or diverges. If it converges, find the limit.

a, = é‘xl.'r[xwﬁ:l

3. Find the value of the limit for the sequence given. Select the correct answer.

[1.9.1?...(?%1)][
(7n)’

oo oW

4. 1f $600 is invested at 4% interest, compounded annually, then after n years the investment is
worth a, = 600(1.043" dollars. Find the size of investment after 7 years.

5. A sequenceis {ax} defined recursively by the equation «, = 0.5[%_1 +an_2:| for » =3 where
a, =14, a, =14

Use your calculator to guess the limit of the sequence.

6. Determine whether the geometric series converges or diverges. If it converges, find its sum.

1 1 1 1
__+___+__...
50025 125 6E5
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10.

11.

When money is spent on goods and services, those that receive the money also spend some of it.
The people receiving some of the twice-spent money will spend some of that, and so on.
Economists call this chain reaction the multiplier effect. In a hypothetical isolated community, the
local government begins the process by spending D dollars. Suppose that each recipient of spent
money spends 100<% and saves 100s% of the money that he or she receives. The values c and s
are called the marginal propensity to consume and the marginal propensity to save and, of course,
ct+s=1.

The number k = 1/s is called the multiplier. What is the multiplier if the marginal propensity to
consume is 90%?

Select the correct answer.

®o0 o
~NOo Wb

10

Find the sum of the series.

g 22 +23 2t N
1.3 2.3 3.3% 4.3t

Find an approximation of the sum of the series accurate to two decimal places.

5 (—13)”

M

Determine which series is convergent. Select the correct answer.

a 2.3 4,5 6 _
778 9 10 11

b. 4 4 4 4 4
304 5 6 7

Approximate the sum to the indicated accuracy.

© o A(—1 2-1
Z % (five decimal places)
n=1 #
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12.

13.

14.

15.

16.

Find the radius of convergence and the interval of convergence of the power series.

o xﬁ
Zntany

Find the radius of convergence and the interval of convergence of the power series. \
Select the correct answer.

i 260 e Ty -
a1 3 710 CGa+ 1)

oo o
= R
Il
-—l-.‘:,‘-.—l-g

Suppose that the radius of convergence of the power series 2 ¢, %" is 9. What is the radius of
u=l

convergence of the power series 2. ¢, ™"
x=0

Find the radius of convergence and the interval of convergence of the power series.

w M

X
x_.;,?ﬂ+2

Find the radius of convergence of the series. Select the correct answer.

E( 1" 'i”;m

(-8,6]
(2,14]
(-14,-2)
[-16,-4)
[-1.1]

o

® oo
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17. Use series to evaluate the limit correct to three decimal places.

i Tx— tf;n'l?x

¥—=0 X

Select the correct answer.

i =
18. Given the series 2, A
w1 A3+ 5)

estimate the error in using the partial sum s, by comparison
. . = 1
with the series 2, R

=l

] | 3
19. For which positive integers K is the series 2. (ﬁ');u
Hel x

convergent? Select the correct answer.

kz5
k=0
k=0
kz1
k=-5

®o0 o

20. Which of the given series are absolutely convergent? Select the correct answer.

a =B ogin2u
>
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Answer Key

1. A

2. @

3. A

4. $789.56

5. 14

1
6. -
&
7. E
*a
3

9. -0.90
10. B
11. 3.87036
12. R=1,7/=[-1,1]
13. B
14. 3
15. R=1,i=[-1,1)
16. D
17. 114.333
18. R, =0.0000051
19. A
20. B
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Stewart - Calculus ET 8e Chapter 11 Form G

1. Find the value of the limit of the sequence defined by

1
=1l a,,=060—-—.

a?!

Select the correct answer.

a4

& 645
2
b. &- .10
0
C. 6410
2
d 6-./5
2
e. 6+/10

2. Determine whether the sequence converges or diverges. If it converges, find the limit.

ﬂx _ é‘xl.lr[:u+6:|

3. Determine whether the sequence defined by a, = 5+8(—1)" converges or diverges. If it
converges, find its limit.

4. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 3x4—m+1

n=

Select the correct answer.

a. 12
b. Diverges
c. 3
d. 16
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Stewart - Calculus ET 8e Chapter 11 Form G

5. Determine whether the given series converges or diverges. If it converges, find its sum.

E[HE]”

H=l X

6. Determine whether the given series converges or diverges. If it converges, find its sum.
= Ont 43
o 270 +5

7. Determine which one of the p-series below is convergent.

8. How many terms of the series do we need to add in order to find the sum to the indicated
accuracy? Select the correct answer.

> 2':_13'“1 (Jerror] ) < 0.0798
=1 "32 .

a.. M= 6

b. M= 5

C. »n=12

d. M= 8

e. »n=13

9. Find an approximation of the sum of the series accurate to two decimal places.

i (—133'

M

10. Determine which series is convergent.

11. Find the values of p for which the series is convergent. Select the correct answer.

5 (UP
x=2 @ﬂ[”ﬁ]J
a. p=1
b. p=0
c. p«=i
d p=l1
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Stewart - Calculus ET 8e Chapter 11 Form G

12. Find the radius of convergence and the interval of convergence of the power series.

i 2 6.0 . e 3y e
S A710 e (Bt )

13. Find the interval of convergence of the series.

L] -.I.j
a1l AT3

14. Find the radius of convergence of the series.

15. Find the radius of convergence of the series. Select the correct answer.

E[ e FF101 (x+1U)

(-8,6]
(2,14]
(-14,-2)
[-16,-4)
[-1.1]

16. Find a power series representation for the function.

f@:m[lHyJ

11—y

oo

® o0

17. Find a power series representation for
Slt)=(14-1)
18. Find the Maclaurin series for f (x) using the definition of the Maclaurin series.

Flx)=xcos(dx)
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Stewart - Calculus ET 8e Chapter 11 Form G

w | 3
19. For which positive integers k is the series 2 I::):u
Hel oyl

convergent?

20. Determine whether the series is absolutely convergent, conditionally convergent, or divergent.

= (=10 arctans
E( ) :

1=1 #

Select the correct answer.

a. conditionally convergent
b. absolutely convergent
c. divergent
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Stewart - Calculus ET 8e Chapter 11 Form G

Answer Key

A

&
Diverges
D
Diverges
Diverges
7. % iﬁ
-1

8. A

S0k whE

r

©
|

o

©

10.

I
=l &= O
+
Lh | da
I
| =
+
1| o=
I

11.
12.
13.
14.
15.

o 0 oW =
1]
—
t—y
1]
T
—L
—
e

o
—
| B—

O =
1l
RN

m+l

w

2y
16. 2, ———
aco 117724+ 1)

] ﬁ?!
17. Inl14- 72,

Bl .?214:!
w _1 ?!42?dx2?¢+1
E[ )
a=0 (2?@)'

19. k=5
20. B

18.

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart — Calculus ET 8e Chapter 11 Form H

1. Find the value of the limit for the sequence given. Select the correct answer.

[1.9.1?...(?%1)][
(7n)’

0
-1

oo oW

T
3
1

2. 1f$600 is invested at 4% interest, compounded annually, then after n years the investment is
worth @, = 600(1.047* dollars. Find the size of investment after 7 years.

3. Determine whether the given series converges or diverges. If it converges, find its sum.

i[ui]”

n=1 H

4. Determine whether the geometric series converges or diverges. If it converges, find its sum.

E 5m6—m+1

n=

5. A rubber ball is dropped from a height of 8 m onto a flat surface. Each time the ball hits the
surface, it rebounds to 50% of its previous height. Find the total distance the ball travels.
Select the correct answer.

a. 16
b. 24
c. 8
d. 32

6. Determine whether the geometric series converges or diverges. If it converges, find its sum.

1 1 1 1
__+___+__...
5 2% 125 625

7. Determine whether the given series converges or diverges. If it converges, find its sum.
=, 9% 43
xon 22 +5
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Stewart — Calculus ET 8e Chapter 11 Form H

8. Find all positive values of u for which the series Z, £

wa-l

converges. Select the correct answer.

9
w 2

9. Find all values of p for which the series 2,
r=1 A

converges.

10. Test the series for convergence or divergence.

11. Find an approximation of the sum of the series accurate to two decimal places.

H

- =1
E( 3)
2=1
12. Approximate the sum to the indicated accuracy.

= A u-1
Z % (five decimal places)
2=l #
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13. Find the radius of convergence and the interval of convergence of the power series. ]
Select the correct answer.

i 6.0 e 3y -
S4 710 - (Bt

!

(—co, )

E

(-1,
{0}
[-1. 1]

14. Find the radius of convergence and the interval of convergence of the power series.

E[E]

15. Find the interval of convergence of the series. Select the correct answer.

a.
b.
c
d

S S P B

m:
1,7
0,7
1,7

diverges everywhere

[-1.1)

16. Find the radius of convergence of the series.

®o0 o

17. Find a power series representation for the function.

f@:m[lHyJ

11—y

© 2016 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Stewart — Calculus ET 8e Chapter 11 Form H

18. Use the power series for fix)= 2J5+x toestimate %/5.07 correct to four decimal places.

Select the correct answer.

a. 17179
b. 1.718%
C. 171594
d. 17156
€. 1.7200
. : - s . . i .
19. Given the series 2, ————— estimate the error in using the partial sum g, Dy comparison

o1 A (3m+5)

=1
with the series 2., eR

el

20. Evaluate the function f{x) = cozx by a Taylor polynomial of degree 4 centered at & = ), and

i
X=—.

4
Select the correct answer.

07074
42074
32074
2.2074
1.2074

P00 oW
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Answer Key

A
$789.56
Diverges
36
B

1

&
7. Diverges
8. C
9. p=>1
10. The series is convergent.
11. -0.90
12. 357036
13. B
14. R=10,7= {0}

© s~ E

[EEN
a1
O

=2

Eyh +1

aco 117204+ 1)

[~]e

17.

18.
19.

20.

= 0.0000051

> P>
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